Rk, Fo b
Uy vy —ftx
N RN R
T T
L2
- L1 _ W _
(BEAT mm )
DA T B M F R S O R -
N & ik F 0E vy F ) N Ny F v 7y ——h
IEOVEE d Ll L2 D W Box KM | EXXEXES | Ht X M
S - 350 388 350 270 56 458 M8 X 6 A& |3 X 350X 1260 110 X 350
S - 400 443 400 305 04 513 M8 X 6 A& |3 X 400X 1450 130 X 400
S - 450 497 450 345 72 568 M8 X 8 A& |3 X 450X 1610 150 X 450
S - 500 554 500 375 80 624 Mg X 8 A& [3 X 500X 1790 150 X 500
S - 600 664 600 440 96 734 M8 X 10 A [3 X 600X 2140 200 X 600
S- 700 777 700 500 112 847 M8 X 10 A [3 X 700X 2490 250 X 700
S - 800 887 800 590 128 957 M8 X 10 A [3 X 800X 2840 250 X 800
S - 900 999 900 650 144 1,069 M8 X 10 A [3 X 900X 3200 300 X 900
S - 1000 1,110 1,000 720 160 1,180 M8 X 10 A& |3 X 1000X 3550 300 X 1000
T BLEHOGAEOKR, NoF RO ) v—y— e,
il ZJUVERNYUIVTVRE ?; -
& S L CHkF (EILE - HLEHM) | f o
MIEFFE'19-%35 = CSP-50004-00




